X

N

(=]
&

.
B
—— T N
P e e, e -

1 2 3 %32 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

o
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
: —‘_,—_E._

L : =
B —— . .
. ——
=5
_:¢
- :—.’—l—l"

—=#— DQM_CKF_XiMinusPU_base
—— DQM_CKF_XiMinusPU_retrainOldFiles125_v2_prelimWPM_epoch0

< 00, > (M)
oI L
T
:i
:
£

...........................................

................................................

-1 0 1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

<op/p. > (70)
D
I

237 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


